A A 4009
Il Semester 3 Years LL.B. Examination, December 2019
LABOUR LAW - |
(2018 and 2019 Batch)

Duration : 3 Hours Max. Marks : 80

Instructions ;: 1. Answer all five Units.

Q. No. 1.

Q. No. 1.

Q. No. 1.

b)

. b)

Q. No. 1.

b)

b)

5> One essay type and one short note/problem is
compulsory from each Unit.

. Figures to the right indicate marks.

~ Answers should be written either in English or Kannada
completely. |

W

UNIT = |

Explain the procedure to be followed to register a Trade
Union under the Trade Unions Act, 1926. ; Marks : 10

OR

Explain the general and political funds and their collection
under the Trade Unions Act, 1926. Marks : 10

PO0FE RoPLBCRRS, SROTOCIRRS o303y, TRFT
Bone RS, 1926 TY, SORTI0Z WOR. Marks : 10

OR
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oo%8ecsd QNG W, TONR SRYNTTY m&:ﬁm&md ATy

DROR. ™ Marks : 10

Change of name and amalgamation of Trade Union. Marks : 06
OR

Cancellation of certificate of registration of a Tradel Union. Marks : 06

s Ropd B0 WERNR B 20D G SR,

POFE RODNE W0 BRBRIT. Marks : 06
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Q. No.

Q. No.

Q. No.

Q. No.

Q. No. 3.

Q. No. 3.
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. b)

b)

. b)
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UNIT =1l

Explain the provisions relating to reference of an industrial
dispute. Marks : 10

OR

Define “industrial dispute”. When does an individual dispute

become an industrial dispute ? Explain with the help of

decided cases. Marks : 10

2,000 BERENT TRTIS QT SRR TE, ROWOPTE

ema:’wot;iﬁed?é DWOR. Marks : 10
OR
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Works Committee.

Marks : 06

OR

Award. - Marks : 06

OO WOOTEP. Marks : 06
OR

DSEJF . Marks : 06

UNIT - 1li

Define strike. What are the various kinds of strikes mentioned

in the Industrial Disputes Act, 1947 ? Marks : 10
OR

Define “retrenchment”. Explain with decided cases the

provisions of Chapter V A with reference to retrenchment. Marks : 10
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OSGEDAT NG D0 d&agdriv.b SR ? Marks : 10

OR
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Q. No. 3. b) Mohan and Co. Ltd. directed its workmen not to report for
work for 15 days due to water scarcity in the industry. The
workmen claimed lay off compensation. Mohan and Co. Ltd.
refused to pay. Decide. Marks : 06

OR

b) The certifying officer certified and sent to the employer the
standing orders for his industry without sending a copy to
the concerned Trade Union. The Trade Union challenges the
standing orders as invalid because they were not consulted.
Decide. Marks : 06
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UNIT = IV

Q. No. 4. a) Explain the circumstances under which an employer is liable
to pay compensation under the Employees Compensation
Act, 1923. Marks : 10

OR
a) Discuss the composition, powers and duties of the ESI

Corporation under the Employees State Insurance
Corporation Act, 1948. Marks : 10
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Q. No. 4. b) Raja was working as an electrician in David and Co. Ltd.
David and Co. Ltd. is a Subscriber to the ESI Corporation.
Raja comes into contact with a live wire and dies. His
widow Rani claims compensation under the Employees
Compensation Act, 1923. David and Co. refuses to pay.

What is the remedy available to Ranij ? Marks : 06
OR |
b) Benefits available under ES| Act, 1948. Marks : 06

Q. No. 4. b) To% 0D BeT® B 50.9, ) aeﬂeﬁam <N 0%
m@%& BesE* By 0.9, 03w WRBREANS oo%,  SNSR
DRPFOERT'S  PNCSHNG. Tomdrt 2o B,0300° 3rod
WRITS. 93T Bows Toes TR NN b e Dle
VO, 19237 Cl<low] a‘agd bafelsanle] BedRG. Bedw
=03) 3o. SR TOTT BRme NTTOROZT. Toedrt TR,

ANT JOTTRE 9 Marks : 06
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UNIT -V

Q. No. 5. a) Describe the various deductions which may be lawfully made
by an employer under the Payment of Wages Act, 1936. Marks : 10

OR

a) Explain the provisions of the Factories Act, 1948 that deal
with Annual Leave with Wages. Marks : 10
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Q. No. 5. b) Niteesh and Company Ltd. are manufacturing salt from sea
water on the coast of Ratnagiri in Maharashtra. They have
employed 30 workers to collect the salt, pack it and load
it onto trucks. The Inspector of Factories prosecutes the
Director for not maintaining a register of workers as required
under the Factories Act, 1948. Niteesh and Co. contend that
they are not a factory as defined in the Factories Act, 1948.

Decide. Marks : 06
OR

b) Write short notes on the powers of an Inspector under the
Payment of Wages Act, 1936. Marks : 06
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